
'A071 sinx = cost &B : sina = cosa

AvoyA : sinx = cosX Four Alcosa , sina) cutsio zou

El sinx = sin( -x) horadiato kukto.
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=> 2x = 2kπ + I E) 0 = 2kπ +IktT

=X = kπ + I ADYNATH.
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4 => a = F i a = n +EE) ·
ETL

=> a = 2k ++ a = 2xπ + T+ ,
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=> a = 2k ++ a = (2x + 1) . ++ ,
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=> a = 4 . π+ ,k[
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oko2 : Isinal = Icosal Avoy B : sina = 208amko 1
-

Sina =10sa
- a = kπ + F,

ke

voA : Kinal-osa El [ Sina = -cosa

sina = -cosa "Fozw Alcosa
, sinal musio zoupovadaio kindow.

sina == cosa = A oupsio ins supsias ye-X.

Sina = cosa sina = -cos a
-Y 1Y
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& => sin(a) = cosa
y = - X y =-x

= k . T + T
El sin(a) = sin(E -a)

It kxion ins y = -X ziron-

Aga , => a= ya= π +
3π

ke T T

- a = 2kπ +I - a => a = 2k ++ ya= 2x + + T +3
0 = 2kπ + I ADYNATH

=> a = 2kπ+ ya = (2k+ 1) . + +3
↑
1

- a = 2kπ + (π - (-a) 'Aga
,

a = k : T +3 KET

=> a = k : + + 4 - E ,
kE7

( - a = 2kπ + I + a

= a = k . T + π -F ,
kEX

= 2a= - 2kπ - E
=> a = (k+1)0π -E / 1 R

↳
a= - kπ - I ,

kER
= a = kT - F , k + 2
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